b

L e = S 82928 [ 20254501 0%

; ; I z % ALFNTHZIAK TR &2 v & —

4 J\EPEXIEK2TH4—-16
[FIZEE 5 &621-3085 FAX621-3086

1 E-mail na-sf@ktqc03.net
BIEER 1 ey mE PLRT

— 1T L1 [

m . ﬁ" :’ D3 "‘, ' " . g
v \i"‘ w - r_} ’ 4;1 - ?‘ . L) ) b?": i;‘_ L;" 2 ?.
iy — > L{X ‘/ A

SMTEEREZ— I %’1@ ggéjd ., 355 § e J% L\g% 517 &L;*@ )
" s : 2 SERRL2E £ e
EEEETF oLy Vhy R HITTR R
— — 0) W éﬁ Ef% L -:rg 5:" J: _;]i\ < - ;ﬂ<
—J—Z#—“I,\—ﬂtﬂ .’.’ ( 7'%“[*’(' ] ve E‘erﬁ( _I;_ §:fZﬁ El 2. L% i%l_v: E g = _ ;._A
o w7 < o~ .
*x B B:58248(1 1000 ~ 11:30 9o - 5 ! N O
X8 B RKBREVS— 28 SE0H—IL * gy g Lrge EFI 3
x A B AE24% EELCBORELHTOET B '}é 2L RS2
* BoT<2E0 | L K&, 97 \ 8 3 % v .
"'r % : - ’ﬂ‘ ov
BEPABEORBEEREENOF S Y E CRRBL EE!) ST
s siuiichbminatd o ﬂ%7k:3\nﬁfﬁﬁ%nﬁl¥
JTescTestoascTe® BAYRINESTE G-
q ~@EhiLazELaFEEAN ~ .

D FELHA : v crvow oo
@ % ’I@I :/’VI/_P o
%*n7$'§ EP&VF#E E SIS 7f—|~‘1)—-mj/f—;/’éi;ﬁl:?ié'(:lsﬁ)bﬁ ;

AR TAYI ARV

<

426 B(1) B FhEOmE - ><1 O??f‘ﬁiﬁ%?ﬁ.ﬁ?‘y’/a‘/(:ﬁ DA
6 8 14 B(1) &OFEDEHIBERLL oM EDINE 3 A .

-

7H148(x) AL—1FY e wﬂ;
9 B 20 B(L) ELCADEEE \{@% I %U&E@ k71— z«—zfj

1018 B LD ESFF O B8 CetonIh

114 8 B EREORAR 5H80 EWTAIESRBNE L(%%?}

12 B 13 B()EWLWIADINE 58158298 JU—2~N—2 G

1A 24 B(L)EY—AMEY 58228 FER- 4! 1Tc%$a;ﬁ\ URIvo
/I/gEEEEEEEEEEEEEEEEEEEEEEs\\\ 4,3]75(*) CkffT%ET&OTL

Ot 2—NESICHALNIGLZUE

SHN7TEFA4BLBASNL HREYY 288988
(Eﬁﬁﬂ)J [CDOTFEUTCL FHBISKEMICHES M

_BELOERSED. TMEELILLE.

m I
Il EAER®FIS2=57+—%ER  093-642-1336 ,',;' X4 Ap o HEER - LHRACTHEE (EDIEON—1)
\\\SEEEEEEEEEEEEEEEEEEEEEE? BHICEYVE L
BEAEE & 27 | 26 | 24 | 22 | 21 |20 | 16|14 | 14|13 |12 |12 10| 8 | 2 | A %
BCHE B8 i
g ;Eé %= K @g 7k X | A || K| K|k | £ |K|K|KRK|B|A | x|KX|&|E '
e Iy BE 73
LERErE g B 2| & | #|nF £ | R|H> |2 | R |[%| T 2 5
yﬂ#ﬁ’ﬁﬁf*xbi_%ﬂgé Kig B 5|5 E | E noE R B S| - | BT
7k 2% %Xz SEIEIE|IIDTIR|IB|IAE|IE I H|IE DY E H
S~ 2 D n| = = | I 7 < 2 | E|L | E | BB < = | & =
MmeYEFEx 2l 8|7 2| LY | x| 5 |B |8 2| Y| 5|8 ¥
X g EEE mlBa|l X =2\ B BB A % | & | s | P
th - D & B ig L N | B | = ] B | = E ey ig ==
L nL2H AR RN = | | % | = = 5| & | A&
~ = 7 : 4 e & N =
A £ | X & ES £ ﬁ




